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YOUR NAME:
Environmental Biology 206 EXAM Il 07 March 2007 (exam worth 100 points)

Muitiple Choice (questions have only one correct answer; 12 points total; 2 points each)

1. Why is the Brown Tree Snake a problem in Guam?
a) eats naive native animals
b) has no predators
c) causes electrical blackouts
@ all of the above
e) none of the above

2. Asdiscussed in this class, what evolves?
a) DNA, b) individual animals and plants, @populaﬁons, d) ecosystems, e) none of the above

3. Which of the following traits demonstrates an example of stabilizing selection?
human birth weight
) bill depth on Daphne Major in the Galapagos
¢) lizard perch height in the Caribbean
d) number of bristles on fruit flies in the laboratory
e) none of the above

4. Which best describes the modern evolutionary synthesis?
a.) The combination of paleontology and the mechanisms proposed by Darwin and Mendel
Wegener's study of plate tectonics
¢. Darwin's publication of the Origin of Species
d. Watson and Crick’s discovery of DNA in the 1950s
e. All of the above

5. Which is the biggest threat to biodiversity?
a. invasive species  b. disease c. pollution  d. over-hunting @habitat loss

6. In a typical bibliographic citation for a scientific article, which of the following is listed first?

author
b. year of publication

c. article title
d. page numbers of article in journal
e. publication journal

Really Short Answer (a few words or a sentence; 33 points total; 3 points each)

. List three things that have been shown to reduce the number of offspring that a woman has
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. List the three most common plants found at the bottom of Tumamoc Hill.
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. What geographic feature is a major dividing line between populations of desert tortoises. '
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5. Show how you would convert 25 djrees Celsius to Fahrenheit.
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If elephants are considered K-selected, what was Darwin’s point in discussing the reproduction
of elephants over 500 years? _
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7. Define Emst Mayr’s biological species concept.
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8. What three criteria must be met for evolution by natural selection to occur?
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9. Do oceanic islands better represent primary or secondary succession? Why?
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10. Why are there so many mammals that only recently went extinct in western North Americ;?
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11. Calculate the 'doubﬂ{:g time of a population that is growing at 5% per year. Please show your
work. /
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Using the diagram below, answer the following questi ints each, 10 points total):

1. Which diagram (A, B, C, or D) represents the lowest positive population growth rate? <~
2. Which diagram best represents a developing country like Guatemala? /,L
3. Which diagram likely has the highest infant mortality?
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4. What is important about the ages 15-44 (noted in the lightest color in the figures above)?
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Short Answer (45.5 pts total; 6.5 pts each; a complete sentences required)
12. In a developing country, how is a biosphere reserve a conservation strategy that might be more
succesful than a national park.
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13. Explain, using genetic and ecological concepts, why it might NOT be a good idea to move desert
4 tortoises from one part of the species’ range to another part of the species’ range?
OR
/5 Give an example (real or imaginary) that explains the founder effect, genetic drift, and speciation.
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14. Choose two species in the Galapagos Islands and explain how the El Nifio weather phenomenon
affects them.
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15. Based on your chapter by Quammen, why do aphids switch between sexual and asexual
reproduction? What is it about each of these reproductive strategies that confers some benefits
at least some of the time?
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16. Explain how the concept of biodiversity includes many scale?. How did Taylor Edwards define
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Differentiate between instrumental and intrinsic values of biodiversity. Please provide an
appropriate example for b?d:lkinds of valuation.
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17 and 18.

Draw a graph of logistic growth on the axes below. Be sure to label your axes. Using your graph and
accompanying text, explain the three concepts of r, K, and density-dependent limitations on

population growth.
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